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Whateley Carringbten Esq,
Calandsbrast &4, !
Rotterdam,

Helland,

My dear Whately Carringten,

P derived frem W/WP 1s the chanoce ef
getting suoch big differences as you get In the werd
totals en the hypethesils that if you try the list eof
words en A large number of peepls the average reactlen
te nll woerds will be the same, The epposite
hypoethesis is that acowe words have a general tendency
to induoe high er lew remotion times,snd this view
is oonfirmed when F 1a small, The hypethesis is really
noet se interssting for your purpese I think as the
ons tested by WP/OWP whioh 1s that whatever differences
there may be among werds psepls de net differ Iin thair
reactlon mere from emoh othertbhan.they de frem them-
salves on different scomssions, 8f oourss if aeme
words de generally induce lenger resction times than
others this faobk may equally be stated in the ferm
that the human race shew inber ss seme general similarities
11 thikdr resstion tc different wer s but particular



persons might shew such similarity even If this were
net the oase,
If your data were net adjusted to make

total readtion en all ecccassiens the same whish sheuld
have & similar test frem O/0N the hypethesis being new
that all cocmssions weuld give the same average resstien
be a suffiolent sample ef werds,mnd for W/OW inting1
the hypethesis that all words geve the sams averags
resstlon if tested en a suffiolent number ¢f eccastiens,
pereenalitiss bsing tetalled and therefers squalised
for thess two testhan,

Your #ests on L«E, Fel and F=E show that
L and E may be identioal, but that F differs ‘significsntly
from J and E, If the other tests shew insignifioant
differences,l suppese E, J and 1 must be Indlstihguidhable,
but F differs from them, |

My peint abeus the low prebabilitiee As
simply this, an event with prebability 1/100, 000 frem
s oertain hypethesis is cerbtainly 1000 $imes lesa prebabls
than one 1/100 en the mame hypethesis, suppesing that
hypethesdd 1z trus, bpt the teat which gives 0,01 4s in
the erdinary way suffioient to show that iF 1s net Smue
1,9, bthe basis of the oaloulablon has fallen akay,
In faot, having feund prebability .01 you knew hew He
get at will the prebability 0001 merely by inoreasing



the bulk eof yeour data thres<fold i.,s, as a good
axperimentalist suppesing that your ebaervaticns
are really oapable of repetitien,

By the time you geb my letter I axpect yeu
will have already done all the work nesded for peeling
the three degrees of fresdom betwesn the feur persenalitien
anf all the cther triplebs that this generates,

I have gene "Head Justioce" and jebbed
down single work analysis of thess twe oasesn, They
de not mgree exmobly with yours, but as far as I oan
see, you have the thing in prisipal, . The sum of the
squares for O,F and OFP. may be added fer all werds
Eiving respeatively O x ON, P x FW, mnd OF x OFW
with, if there are 74 words T4 x 4, 3, and 18 degress
of fresdem, From the tetals of all the words one pan
derive, by an analysis exastly similar ¥e that wsed
for individual words the pertions O, F and 0P amd
suttraating these, still using suma ef squares ebtain
OW, PW and OFW with 73 x 4, 5 and 12 degrees of freedem,
I think you replly must Rgave dene all this Iin effect
in oomparing ths persenalities by pairs fer your results
for six pairs added Sogether must, I supposs, give
Just twlce the tebals feor the thres degress of fresdem
ef persenslity and the same in all the ether i%ems which
invelve P,



If one persenality is gelng te stand omb
from the obther three 1t is a great advantage that wyou
have dons it by pairs, though prebably pecling the
regulta in OWP, fer sxample, would give m batter hasnla
ef satimatdng erroy for all the testn, However,

I will net dogmatise en this ms any great discrepansy
in values of 0, P, W, for different palrs might,
perhaps give a olus bo seme psyohelegloal pelnbs you
have in mind, whieh yeu weuld not get withoub the
separate values,

Yours sincerely,



